i
' i
9.00 [228.6]
I 11.25 [285.7]
4x 1.25[31.75]
—_ 6.00 [152.4] -— NOTE:
C 825 [209.5] 1. ALL DIMENSIONS WITH [] ARE MILLIMETERS c
- 5.88 [149.2] -
1
i 1 1. MICRO SWITCH
621 - ROUTE 83
i BENSENVILLE, IL. 60106
- $- PHONE: (708)-860-3968
14 13
1
1
11 10 1
B 17 3/8-16 UNCx1-1/2"LG HHCS DRILLED HD SST 8 B
3 6 7 15 16 3/8-16 UNCx1-1/4"LG HHCS DRILLED HD SST 4
12 15 1/4 x 3/4" LG DOWEL PIN SST 6
14 3PAL LIMIT SWITCH ENCL. (MICRO SWITCH) ALUMINUM 4
1 13 BZ-2RQ24-A2 LIMIT SWITCH (MICRO SWITCH) 4
2 7 5 12 3/8 x 1" LG DOWEL PIN ssT 4
11 #8-32 UNC-2B HEX. NUT SST 4
16 15 4 10 #8-32 UNC-2A x 5/8 LG HHCS SST 4
9 3/8-16 UNC-2B HEX. JAM NUT SST 4
8 3/8-16 UNC-2A x 1" LG SOC. SET SC. SST 4
8 9 7 1/4" PLAIN WASHER SST 4
6 1/4"-20 UNC x 5/8 LG HHCS DRILLED HD SST 4
TI 5 3/8" LOCK WASHER SST 8
1 1 1 1 4 A4-710004-00 A4-71  SWITCH POSITION BRACKET SST 304 1
1 1 ! 3 /A4-710003-00 A4-71  LIMIT SWITCH MTG BRACKET ALUMINUM 6061 2
1 2 A4-710002-00 A4-71  ACTUATOR MTG BRACKET SST 304 2
I 1 A4-710001-00 A4-71  SLIDE MODIFICATION 1
STROKE UP
A4710000-00
A . . A
ry
o MUSCIA 9/5/98 D. SHU 10/19/98
1
J.CHANG 10/19/98".M.KUZAY 10120198 A4-71 15mm HEAVY LOAD
PNEUMATIC ACTUATOR
CHANG/MUSCIA 9/5/98 ASSEMBLY FOR P4-30
J.CHANG 10/19/98
1:2

11 D | A4-710000-00

8 7 6 ) 4 3 2




